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actually keep track of what happens to it at each distinct life stage.
This is because:
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◮ Adults die soon after reproduction.
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And so on, to see how the herd changes over 5 years.
OR, we can use the general solution ~p(t) = At~p(0) to see how it changes
over 5 years.

Either way, we obtain:

Year Calves Yearlings Adults Total
0 0 0 100 100
1 42 0 95 137
2 40 25 90 155
3 38 24 104 166
4 44 23 117 184
5 49 26 128 203

We clearly see the total female population is growing each year. While
the trend in each individual class is not so clear.
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◮ Leslie matrices ALWAYS have a unique positive eigenvalue.


